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The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.

1. (a) State whether the following stéfements
are true or false : ' 1x5=5

oo SERE O @ WuT SEd o
() An Indian citizen is always

~considered as resident and
ordinarily resident in‘India.

GG SIS AIRTT MY ©gex B
% A9 AR oA siop w0 |
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(iii)

(iv)

(v)

The rate of income tax for a given
year is fixed by the Parliament
Finance Act passed by the
Parliament. '

R @ft 311 I gy [k
wowe REw wiizas ol {33 9 =)

If a person is considered as an
assessee in place of another person
due to a valid reason or course he
is known as deemed assessee.

I TRATTIST T AT & ISR Fie

N GEH IS el ZEICet o) I =
o€ TEe el Zite oAl AR |

Perquisites cannot be given in
monetary form.

AR A Ry TIF NGTS 2w 7}
=1

In India, Wealth Tax Act of 1957

has been made effective from 1st
April, 1956.

1957 5] 37=if& HizN, Sifeqds 1956
R #ifZe «fPe oR_ ey =)
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(b) Fill in the blanks with appropriate

word : 1x3=5
Toige =T i A iR o[ A ¢
(i) of an assessee has no

(i)

(ifi)

relation with the concept of

residential status.

T AR S o I
AR ARTTT I F7>4F TR
Agricultural income is fully
exempted from income tax under
sec. of Income Tax Act.
R o T TS |
Indexation of the cost of
is required to be done in case of
long term capital asset.

AR TR TR v 3
o efl T SRS |

(iv) Deductions out of gross total
income is allowed to individuals
and ________ only.

@ PSR = YT IS
T <19 FEF I I]Y SR
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(v) Best judgement assessment is also
known as ___ .

e Ronee I Ao
3fere w1 qiF |

2. Write short answers to the following :

2x5=10

oY 2R 53 TS i ¢

(a)

(b)

()

Write the meaning of Previous Year as
per Income Tax Act.

SRR SR S st 399w o

When is an individual considered as
“Non-resident Indian” for income tax
purpose ?

& gom TR Sorey (loat sies AP
T2 e ooy [ e

State two expenses which are
admissible while computing taxable
profit of a business.

ARSI I e [T I=ice aw Fam
7Ry 4T] Raw Tk 10|
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(d) Mention the situation when an
individual is not required to pay
advance payment of tax.

R RS goa Ffewm wfay 1 AReiy
PR Al TeEd /]

(e) Define Net Wealth under the Wealth
Tax Act.

oIS SNz SRR wE TR ket @

3. Describe briefly any four of the following :

5x4=20
e WMAIRRR R sifeolT oy Rawe faw ¢

(a) When an individual is considered as
resident but not ordinarily resident in
India ?

cofont e s B B PRt = Tk
SRS YR AT Zoieet iy =t =/ e

(b) State the procedure of filing tax return
by individual assessee.

G 9 NI PP SR elforawa wifke
I AES S |
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(e)

(9

Write short notes on Income from other
sources under Income Tax Act.

SRR S PR S SR AR (A W
89S GO ot |

Explain the procedure of regular
assessment under the Income Tax Act.

ST GBS WA 9 [l A=l A1
Ft1

State the procedure of calculating long
term capital gain.

AR e e AR e SEd 710

Explain the provisions of the Income
Tax Act regarding tax deducted at
source from salary income of an
individual.

AR e PR G e vINY SRR
<l TS I FEH IR AT 71|
Name any five allowances which are

exempted from tax upto the limit of
actual expenditure.

2APS TR A ARt 2 IS R Aok
1 R T <=
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Answer any four queétions from the

following :

10x4=40

oS S I e sifeor ey ey T ¢

(@)

(b)

(c)

State the deductions available from
gross total income under section 80C
of Income Tax Act, 1961. 10

1961 59 TR Wied 80C 4RI SIFiTw

ey Sumd =

Explain the procedure of assessment
of tax under the Income Tax Act, 1961.

10

1961 571 SIFIT WEH PR 39 [Reffaet 19
omfS I FA|

Describe briefly the procedure of
ascertaining the income under the head
‘profits and gains of business or
profession’. 10

‘e Al IS A QA AT 8RS T
sl IR ARG A S |
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(d) What is PAN ? How can it be procured

(e)

as per the provisions of Income Tax
Act ? 10

PAN 2 St Sz s SpiiR 216 (e
MRYZ FI AR ?

Write short notes on : (any two)
5+5=10

Rizieant 7519 saeors fera ¢
(i) House rent allowance
99 O[Tl i

(i) Gross total income

AT I W
(iii) Perquisites
ToifRfe A R
Define ‘Asset’ as per Wealth Tax Act.

What are the components of exempted
wealth as per Wealth Tax Act ? 10

A% 37 @iz SRR AfeT e fum |
TG T Wi SR (@R e
Tolvipng 75 e
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(9)
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@

Amar of Barpeta is the owner of a
house property in Guwahati. The
house is let out at a rent of
12,000 p.m. Its municipal valuation
is 21,60,000p.a. and standard rent
is €1,30,000p.a.

The fair rent of the house is
%1,40,000.

The house was self occupied for
two months and remained vacant
for one month. Municipal tax paid
210,000.

Compute the net annual value for
the Assessment Year 2021-22.

5
IO S TGS Il AT T4
<o | ME 12,000 SitE ot
fBsicet IOt el R T TR alds
(ST ETRE = 1,60,000 53 1% i<
=< ©iet =8 1,30,000 Bt
906 S Y ©hel == 1,40,000 5 |
YHIZA AR NS T IR FRfee =i
g WE I T A SR |
2021-22 R RN I[R[ IR v=7
¥ A Ty [l =401

Contd.



(h)

(i) When does the liability for
payment of advance tax arise ?

How is it computed ? 5
S 39 emAe WY fon e = e
|WE @S A a1 e

Mr. Ramen Das is employed in a private
limited company in Guwahati. During
the previous year 2019-20, he received
the following payments from his
employer :

. W WA <A GBI FENS PriiTTe
T{© 1 2019-20 76 IS (98 ALK
ol FTIE B iR

Basic salary 15,000 p.m.
T WifER 7=y 15,000 G

Dearness .allowance %10,000 p.m.

RO A6 M 10,000 T
Entertainment allowance 1,000 p.m.
SRR M A5 1,000 T
Travelling allowance Z500 p.m.

g9 6 WZeN 500 B
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Bonus for the year ¥50,000
TRIBIF AT ING 50,000 Bl
Commission received ¥40,000

olied SR 40,000 Tt

Free furnished accommodation for
which the employer paid a rent of
¥5,000 p.m.

ST <3 79 [T TS REeRicy
5,000 5t 99 ©Ivl sty 3R

Employer’s contribution to recognised
provident fund @13% p.a. on basic.

e AfSTTT Fe® NEALHNG & =z
89T TR 13% el fifde

Compute his income from salary for
the Assessment Year 2021-22.

2021-22 3 NI I IR (083 iz
st (A o e
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